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Note:

. Question 1 is Compulsory
2 Solve any three from remaining five
3. Figures to right indicate full marks
4. Assume suitable data if necessary
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Q3 a) Write a note on skyline and banded matrix of storing data. _' ..»_j ﬁ;-:-* \

b) A three bar equilateral triangular truss has the thrwmmﬁbm .-;;f A 14‘“
length 1m each. The bottom support are 1 and 2, wh:rea&ﬂigﬁ)paumt S *
is 3. Support at the end 1 is fixed, whﬂeenthas,af@ﬂer 3 '1& et x% =Y

is subjected to load as shown. Assummg the modulus nfgp]gsucgt_{,r Aol i

the matenal as 2 x 10° N/mm? and the cmssr‘sﬁmﬂﬂﬂl ai‘ﬁi,ﬂﬁ‘ﬁoﬂ g
mm?, determine B Vo
. Displacement at each node.

[ o ]

. Stresses induced in each element.
3. Reaction at supports
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(4, 0.5) and (3, 4) for i, j & k nodes
mm thick and is of material with pro

found to be
ui = 100pm
vi=-50pm



